PoA, Point Spread for Quidditch at end of Game 1 (Gryffindor vs. Hufflepuff)
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Based on evidence in the text:

1. Gryffindor was 50 points ahead before Harry fell. They lost to Hufflepuff by 100 points.

2. Score was 30 to 80 Ravenclaw: Gryffindor when Harry caught the Snitch. Gryffindor won by 200 points.

3. Gryffindor’s total points after playing Ravenclaw and Hufflepuff was 200 points lower than Slytherin’s total.

4. If Gryffindor’s combined total going into the final was 280 points, then Slytherin must have had 480 points going into the final.

5. Slytherin must have scored a total of 480 points in its two matches.

6. The point spreads can be split between the missing 3 games a number of ways, but there are some constraints.

a) Hufflepuff cannot score more than 120 points between Ravenclaw and Slytherin matches. (280 – 150 = 130, less 10 to put Gryffindor ahead into the final)

b) Ravenclaw cannot score more than 240 points between Hufflepuff and Slytherin. (280 – 30 = 150, less 10 to put Gryffindor ahead into the final)

c) Neither Ravenclaw nor Hufflepuff can score more than Slytherin in the matches against Slytherin.

d) One team must catch the Snitch to end the game, so the final score of the Ravenclaw-Hufflepuff match must be at least 150 to 0 (either way).

If George is right and Ravenclaw is “too good” to lose to Hufflepuff, then Ravenclaw got at least 150 points for catching the Snitch. Thus, their total points against Slytherin cannot have been more than 90 (150 + 30 = 180; 180 + 90 = 270). Assuming they scored their maximum against Slytherin, that game was tied when Draco caught the Snitch (240 – 150 = 90). 

To give each house its due, assume that Ravenclaw and Hufflepuff each got the as many points as possible for Gryffindor to be in second place entering the final (270 each). Furthermore, assume that Ravenclaw only scored once before Cho caught the Snitch, and both teams did pretty well against Slytherin. The point spread prior to the Quidditch final could look something like this:
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And after the final, for the end of the year, Quidditch points look like this:
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Ravenclaw _cannot_ win a game by more than 1 or 2 goals and the Snitch—and if they do, it reduces the number of goals they could score against Slytherin. Hufflepuff could win against Ravenclaw, but if it did, the team’s situation would be just like Ravenclaw’s. 

The contribution of both Harry and Draco as seekers is clear. It appears that they are pretty well matched, at least so far.

We’ll just have to wait and see if there’s any Quidditch next year. 

